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def arrayavg(a)
sum = 0.0
a.each do |xl|
sum = sum + X
end
return sum / a.length

end
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def arraymax(a)
max = al[0]
a.each do |x|
if x > max then max = x end
end
return max

end
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def arraymaxno(a)
max = al0]
pos = 0
a.each_index do |il
if ali]l > max then max = al[il]; pos = i end
end
return pos

end
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def arraymaxno2(a)
max = al0]
a.each_index do |il
if ali] > max then max = al[i] end
end
a.each_index do |il
if ali]l == max then puts(i) end
end

end
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def arrayavgsmall(a)
sum = 0.0
a.each do |x| sum = sum + x end
avg = sum / a.length
a.each do |x|
if x < avg then puts(x) end
end

end
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def fourballsb
x = [40, 160, 160, 40, 40]; y = [40, 40, 160, 160, 100]
dx = [20, O, -20, O, 20]; dy = [0, 20, O, -20, O]
x.length.times do |1l
6.times do
fillcircle(x[i], y[il, 10, 0, 0, 255)
x[1] = x[i] + dx[i]; y[i] = y[i] + dyl[il]
end
end
writeimage (’pict5.ppm’)
end
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def fourballsc

X =

(40, 160, 160, 40, 80]; y = [40, 40, 160, 160, 100]

dx = [20, O, -20, O, 20]; dy = [0, 20, O, -20, O]

(6, 6, 6, 6, 3]
x.length.times do |il

count =

count[i] .times do

fillcircle(x[i], y[i]l, 10, 0, O, 255)
x[1] + dx[i]; y[i] = y[i] + dyl[i]

x[i] =
end
end
writeimage (’pict6.ppm’)

end
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irb> require ’pp’

=> true

irb> a = Array.new(5) do [0,0,0,0,0] end
=> [[0,0,0,0,0], [0,0,0,0,0], [0,0,0,0,0],
irb> pp a

([o, 0, 0, 0, O],

(o, o, 0o, 0, 0],

(o, o, 0, 0, 01,

(o, o, o, 0, 0],

[0, 0, 0, 0, 0]1]

=> [[0,0,0,0,0], [0,0,0,0,0], [0,0,0,0,0],
irb> a[3]1[2] = al0][4] = 9

=> 9

(0,0,0,0,0], [0,0,0,0,0]]
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irb(main) :006:0> pp a
cto, o, o, 0, 91,

(o, o, o, 0, o1,
(o, o, o, 0, 01,
[0, o, 9, o, ol,
[0, 0, 0, 0, 0]1]
=> [[0,0,0,0,9], [0,0,0,0,0], [0,0,0,0,0], [0,0,9,0,0], [0,0,0,0,0]]
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irb> b = Array.new(5) do |il| Array.new(5) do |jl| i+j end end
=> [[0,1,2,3,4], [1;2;3;4;5]; [2;3;4;5;6]; [3,4,5,6,7], [4,5,6,7,8]]

irb> pp b

[(fo, 1, 2, 3, 41,
[1, 2, 3, 4, 5],
[2, 3, 4, 5, 6],
(3, 4, 5, 6, 71,
(4, 5, 6, 7, 8]]

=> [[011’2’3’4]’ [1’2’3’4’5]’ [2’3’4’5’6]’ [3’4’5’6’7], [4’5’6’7,8]]
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$img = Array.new(200) do Array.new(300) do [255,255,255] end end
$cnt 1000
def pset(x, y, r, g, b)
if 0 <= x && x < 300 && 0 <= y && y < 200
$imgly] [x] [0] = r; $imglyl [xI1[1] = g; $imglyl[x]1[2] = Db

end

end
def writeimage(name = "img#{$cnt}.ppm")
open(name, "wb") do |f|
f.puts("P6"); f.puts("300 200"); f.puts("255")
$img.each dolal| a.each do |pl| f.write(p.pack("ccc")) end end
end
$cnt += 1
end
def clearimage
$img.each do |al a.each do |pl| pl[0] = p[1] = p[2] = 255 end end
end
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def fillrect(x0, yO, w, h, r, g, b)
(y0-h/2) .to_i.step(y0+h/2) do |yl
(x0-w/2) .to_i.step(x0+w/2) do |x| pset(x, y, r, g, b) end
end
end
def fillcircle(x0, yO, rad, r, g, b)
(y0-rad) .to_i.step(yO+rad) do |yl
(x0-rad) .to_i.step(x0+rad) do |x|
if (x-x0)**2 + (y-y0)#*x2 <= rad**2 then pset(x, y, r, g, b) end
end
end

end
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def filltriangle(x0, yO, x1, y1, x2, y2, r, g, b)
fillconvex([x0, x1, x2, x0], [y0, y1, y2, yO0l, r, g, b)
fillconvex([x0, x2, x1, x0], [y0, y2, y1, yOl, r, g, b)

end

def fillconvex(ax, ay, r, g, b)

Xxmax = ax.max.to_i; xmin = ax.min.to_i

ymax = ay.max.to_i; ymin = ay.min.to_i
ymin.step(ymax) do |jl
xmin.step(xmax) do |il
if isinside(i, j, ax, ay) then pset(i, j, r, g, b) end
end
end
end
def isinside(x, y, ax, ay)
(ax.length-1) .times do |il|
if oprod(ax[i+1]-ax[i],ayl[i+1]-ay[i],x-ax[i],y-ay[i])<0
return false
end
end
return true
end
def oprod(a, b, c, d)
return a*xd - b*c;

end
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def fillline(x0, yO, x1, yi, w, r, g, b)
dx = y1-y0; dy = x0-x1; n = 0.5%w / Math.sqrt(dx**2 + dy*x*2)
dx = dx * n; dy = dy * n
fillconvex([x0-dx, x0O+dx, x1+dx, x1-dx, x0-dx],

[yO-dy, yO+dy, yl+dy, yl-dy, yO-dyl, r, g, b)
end
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def shiponthesea2
sky; ship; wave
writeimage (’pict4.ppm’)
end
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def ship
filltriangle(170, 140, 230, 140, 230, 60, 250, 200, 200)
fillrect (200, 160, 80, 40, 200, 0, 0)
filltriangle(160, 140, 140, 140, 160, 180, 200, 0, 0)
end
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def wave
17 .times do il
if 1 % 2 ==
filltriangle(i*20-25, 200, i*20+10, 200, i*20, 160, 30, 80, 250)
else
filltriangle (i*20-25, 200, i*20+10, 200, i*20, 160, 30, 60, 220)
end
end

end
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def sky
50.times do |il
fillrect (150, 4*i, 300, 4, 100+2*i, 150-2*i, 250)
end
fillcircle(60, 50, 30, 255, 0, 0)
end
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$img = Array.new(200) do Array.new(300) do [255,255,255] end end
$cnt = 1000
def pset(x, y, r, g, b)
if 0 <= x &% x < 300 && 0 <= y && y < 200
$img[y] [x] [0] = r; $imgly]l [x][1] = g; $imglyl [x][2] = b
end
end
def writeimage(name = "img#{$cnt}.ppm")
open(name, "wb") do |f|
f.puts("P6"); f.puts("300 200"); f.puts("255")
$img.each dolal a.each do |pl f.write(p.pack("ccc")) end end
end
$cnt += 1
end
def clearimage
$img.each do |al a.each do |pl| pl[0] = p[1] = p[2] = 255 end end
end
def fillrect(x0, yO, w, h, r, g, b)
(y0-h/2) .to_i.step(y0+h/2) do |yl
(x0-w/2) .to_i.step(x0+w/2) do |x| pset(x, y, r, g, b) end
end
end
def fillcircle(x0, yO, rad, r, g, b)
(yO-rad) .to_i.step(yO+rad) do |yl
(x0-rad) .to_i.step(x0+rad) do |x|



if (x-x0)**2 + (y-y0)#*x2 <= rad**2 then pset(x, y, r, g, b) end
end
end
end
def filltriangle(x0, yO, x1, y1, x2, y2, r, g, b)
fillconvex([x0, x1, x2, x0], [y0, y1, y2, y0l, r, g, b)
fillconvex([x0, x2, x1, x0], [y0, y2, y1, yOl, r, g, b)
end
def fillconvex(ax, ay, r, g, b)
Xxmax = ax.max.to_i; xmin = ax.min.to_i
ymax = ay.max.to_i; ymin = ay.min.to_i
ymin.step(ymax) do |jl
xmin.step(xmax) do |il
if isinside(i, j, ax, ay) then pset(i, j, r, g, b) end
end
end
end
def isinside(x, y, ax, ay)
(ax.length-1) .times do |il|
if oprod(ax[i+1]-ax[i],ayl[i+1]-ay[i],x-ax[i],y-ay[i])<0
return false
end
end
return true
end
def oprod(a, b, c, d)
return axd - b*c;
end
def fillline(x0, yO, x1, yi, w, r, g, b)
dx = yl-y0; dy = x0-x1; n = 0.5%w / Math.sqrt(dx**2 + dy**2)
dx = dx * n; dy = dy * n
fillconvex([x0-dx, x0+dx, xl1+dx, x1-dx, x0-dx],
[yO-dy, yO+dy, yi+dy, yl-dy, yO-dyl, r, g, b)
end

def sky
50.times do |il
fillrect (150, 4xi, 300, 4, 100+2*i, 150-2xi, 250)
end
fillcircle(60, 50, 30, 255, 0, 0)
end
def ship
filltriangle(170, 140, 230, 140, 230, 60, 250, 200, 200)
fillrect (200, 160, 80, 40, 200, 0, 0)
filltriangle(160, 140, 140, 140, 160, 180, 200, 0, 0)
end

def wave



17.times do |1l
if i h 2 ==
filltriangle(i*20-25, 200, i*20+10, 200, i*20, 160, 30, 80, 250)
else
filltriangle(i*20-25, 200, i*20+10, 200, i*20, 160, 30, 60, 220)
end
end
end
def shiponthesea?2
sky; ship; wave
writeimage (’pict4.ppm’)

end
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def movieb
0.step(20) do il
clearimage; fillcircle(20+i*8, 100, 20, 0, 255, 0); writeimage
end
0.step(20) do |il
clearimage; fillcircle(180, 100+i*5, 20-i, 255, 0, 0); writeimage
end
end
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convert -delay 5 img*.ppm anim.gif
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